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If this method can be extended to lower masses it would be beneficial for the search to constrain the b—>s t t branching fraction, as there are
more available data in this region. In the high mass regime, making conclusions is difficult due to the limited statistics.

NEXT STEPS TO CONFIRM AND VALIDATE METHOD...

1. Using the classifier, calculate the known branching fraction B(B; = ¢uu) to ensure the BDT is working correctly.
2. Produce the new branching fractions for the lower mass ¢s and test whether the limit on the branching fraction is improved.
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